

$$\log_5 4 = \log_5 2 + \log_5 2 \Rightarrow \frac{1}{\log_2 5} + \frac{1}{\log_2 5} = \frac{1}{\log_2 2 + \log_2 2} + \frac{1}{\log_2 2 + \log_2 2}$$

$$\log_2 2 = 1, \log_2 5 = 1/\omega \Rightarrow \log_2 5 = \frac{1}{1/\omega} = \omega \Rightarrow \frac{1}{\log_2 5} = \log_2 5 = \frac{1/\omega}{1/\omega} = 1/\omega \quad (2) \quad \omega$$

$$\frac{1}{1/\omega + 1/\omega} + \frac{1}{1/\omega + 1/\omega} = \frac{1}{\omega} + \frac{1}{\omega} = \frac{2/\omega}{1/\omega} = 2 \Rightarrow \log_5 4 = 2 \quad \checkmark$$

$$\log_1 11 = m \Rightarrow \log_1 11 = \log_1 3 + \log_1 4 \Rightarrow \frac{1}{\log_3 1} + \frac{1}{\log_4 1} = \frac{1}{\log_3 1} + \frac{1}{\log_4 1}$$

$$\Rightarrow \frac{1}{\log_3 1} + \frac{1}{\log_4 1} = m \Rightarrow 3m = 1 + 1 \Rightarrow \log_3 1 = \frac{2}{3} \quad (2) \quad \omega$$

$$\log_5 12 = \log_5 3 + \log_5 4 \Rightarrow \frac{1}{\log_3 5} + 1 = \frac{1}{\log_3 5} + 1 = \frac{3m + 1}{3} = \log_5 12 \quad \checkmark$$

$$\left(\frac{5}{10}\right)^{2m-1} = \left(\frac{2}{5}\right)^{2m-1}, \left(\frac{12}{1}\right)^n \Rightarrow \left(\frac{2}{5}\right)^{-n} \Rightarrow \left(\frac{2}{5}\right)^{-2m-1}$$

$$\Rightarrow \left(\frac{2}{5}\right)^{2m-1} = \left(\frac{2}{5}\right)^{-2m-1} \Rightarrow -2m-1 = 2m-1 \quad (2) \quad \Delta$$

$$\log_1 \frac{9}{3+1} = \log_1 \frac{9}{4} = \log_1 \frac{3}{2} \quad \checkmark$$

توان ماند برابرند
جمع ضرایب
که می باشد
ن = -1, 1/3 < 0
9n-1 > 0
X

$$\log_1 b = \frac{1}{\log_2 b} \Rightarrow \frac{1}{\log_2 b} = \frac{2}{1+\omega} \Rightarrow \log_2 b = 2(1+\omega) \Rightarrow \log_2 b = 2 + 2\omega \Rightarrow \log_2 b = 2(\log_2 2 + \log_2 2)$$

$$\log_2 b = 2 \log_2 2 \Rightarrow \log_2 b = \log_2 4 \Rightarrow b = 4 \Rightarrow \log(2 \times 2 - 1) = \log 3 = \frac{9}{10} \quad (2)$$

$$\Rightarrow \log_{10} 100 = 2 \quad \checkmark$$

$$\frac{1}{\alpha + \beta} = \log 5 \Rightarrow 5 = \alpha + \beta = \frac{-b}{-5a} \Rightarrow \frac{5a}{b} = \log 5 \Rightarrow \frac{a}{b} = \frac{\log 5}{5}$$

$$5a = b + c \Rightarrow \frac{5a}{b} = 1 + \frac{c}{b} \Rightarrow \log 5 = 1 + \frac{c}{b} \Rightarrow \frac{c}{b} = \log 5 - \log 10 \quad (2)$$

$$\Rightarrow \frac{\log 5 - \log 10}{\log 5} = \frac{c}{a} \Rightarrow \frac{\log \frac{1}{2}}{\log 5} \Rightarrow \log \frac{1}{2} = \frac{1}{5} \Rightarrow \frac{1}{5} = \frac{1}{\sqrt{5}} \quad \checkmark$$

$$\Rightarrow \left(\frac{1}{5}\right)^{\log 5} = \left(\frac{1}{5}\right)^{\frac{1}{5}} \Rightarrow \frac{1}{5} = \sqrt[5]{5} \quad \checkmark$$